This page was exported from - Braindump2go Free Exam Dumps with PDF and V CE Callection
Export date: Fri Apr 26 0:43:48 2024 / +0000 GMT

EZO_l?-Versi on-NewDownload 200-310 Questions and Answers from
raindump2go[101-110

2017 Apr. NEW 200-310 Exam Dumps with VCE and PDF Updated in www.Braindump2go.com Today!1.]2017 Version New
200-310 Exam Dumps (PDF & V CE) 326Q& As Download:http://www.braindump2go.com/200-310.html 2.|2017 Version New
200-310 Exam Questions & Answers Download:
https://drive.google.com/drive/fol ders/OB75b5xY Lj SSNbmNsWnFEczRBdUQ?usp=sharing QUESTION 101A network engineer is
attempting to separate routing domains using a virtualization technology. What protocol can be configured to perform thistask? A.
VLANB. VSANC. VRFD. VPC Answer: C QUESTION 102What device virtualization technology allows for a single point of
management and a centralized routing instance? A. ACEB. VSSC. VDCD. VM Answer: B QUESTION 103What two
performance considerations must be taken into account when designing a remote worker access solution? (Choose two.) A.
simultaneous VPN connectionsB.  port densityC.  throughput capacityD. packet sizeE. latency Answer: AC QUESTION 104
In which network location should an external DNS server be placed? A.  campus data centerB.  enterprise branchC. internetD.
remote access Answer: C QUESTION 105What submodule is found within the Enterprise Edge module? A.  enterprise WANB.
remote branchC. campus IPSD. building distribution Answer: A QUESTION 106A company requires a managed WAN solution
that supports Layer 2 adjacency across remote offices for applications and services. What solution should be selected? A. DMVPN
B. MPLSC. VPLSD. FRAnswer: C QUESTION 107A circuit order has been placed for Gigabit Ethernet and is 80KM from
the carrier equipment. What type of SFPwill berequired?A. TXB. SXC. ZXD. LX Answer: C QUESTION 108Which Cisco
security mechanism has the attributes listed below?- it is a sensor appliance- it searches for potential attacks by capturing and
analyzing traffic- it isa"purpose-built device"- it isinstalled passively- it introduces no delay or overhead A. IKEB. PIXC.
HIPSD. NIDSE. HMAC Answer: D QUESTION 109A secure WAN design requires dynamic routing and | P multicast. What
two VPN protocols meet these requirements? (Choose two.) A.  Standard IPsecB. P2P GRE over IPsecC. DMVPND.
AnyConnectE. PPTPF. Easy VPNG. SSL/TLSAnswer: BC QUESTION 110What branch design supports 100 to 1000 users
and integrates ASA firewalls? A.  smallB. mediumC. largeD. extralarge Answer: C 'RECOMMEND!!!1.]2017 Version
New 200-310 Exam Dumps (PDF & VCE) 326Q& As Download:http://www.braindump2go.com/200-310.html 2.|]2017 Version
New 200-310 Study Guide Video: YouTube Video: Y ouTube.com/watchv=Gfs-BeiBC38
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